109/2025-T

Question Booklet Question Booklet
Alpha Code Serial Number
Y,

Total Number of questions : 100 Time : 1 hour 30 Minutes

Maximum Marks : 100

10.

11.

12.

13.

14.

INSTRUCTIONS TO CANDIDATES

The question paper will be given in the form of a Question Booklet. There will be four versions
of question booklets with question booklet alpha code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of
the question booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in the
Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code
in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with
same Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should not
open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that the
Question Booklet supplied to him contains all the 100 questions in serial order. The Question
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the
notice of the Invigilator and get it replaced by a complete booklet with same alpha code. This is
most important.

Question Serial No. 1 to 80 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of question serial No. 1 to 80 will be settled based on the
questions in English.

Two blank pages are provided before the last page of this Question Paper for rough work.
Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number using
Blue or Black Ball-Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the
Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind
of malpractice in the Examination will result in the disqualification of the candidate.



109/2025-T

1.  Who wrote Unniyadi Charitham?
(A) Rayarambilla (B) Damodara Chakkyar
(C) Kerala Varma (D) Appan thampuran

2.  Who started the journal Bahishkrit Bharat?
(A) B.R. Ambedkar (B) Karsondas Mulji
(C) Bhan Daji (D) Jotiba Phule

3. What was the main slogan of the Bolsheviks during the revolution?
(A) Laberty Equality Fraternity (B) Workers of the world
(C) Peace, Land and Bread (D) Down with the Tsar

4.  The National Security Guard (NSG) works under which union ministry?
(A) Ministry of commerce and industry  (B) Ministry of home affairs

(C) Ministry of culture (D) Ministry of communications

5. Doldrums, region characterized by calm air movements, is found in which of the
following pressure belts?

(A) Subtropical high-pressure belt (B) Equatorial low-pressure belt
(C) Subpolar low-pressure belt (D) Polar high-pressure belt

6. Consider the following rivers

(I)  Sharavati

(II) Tapi

(IIT) Narmada

(IV) Vaigai

Select the rivers that flow in a rift valley:
(A) () and (IIT) (B) (I) and (III)
(C) () and (I) (D) II) and (IV)

7.  Which among the following is the oldest irrigation project in Kerala?
(A) Malampuzha irrigation project (B) Pothundi project
(C) Peechi irrigation project (D) Neyyar irrigation project
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1.

2 etresflwmiy &S0 er(HWweui wry?
(A)  gmwrbieveor B) srCwLrsr FTEHWFT
(C) Garyerm suom (D)  oytiuesT LbyTTedT

a6k (hS LIMTS 6T6tTm @SHenLpd QG mLbiSlweur wiry?
A) Ny owCussy B) srCameveTLTSL (LPsLI)
(C)  uetr Tl (D) GCgrglum yGev

yrLdluletr Gumgy Cumsvadlens @ serfletT (& EIW erCevme6sT 6T63T6wT?
A)  FapHr FLSHHI0 FCHTHTHSEI6UD B) =2evas gmfevmeriseT
(C)  emwd), Hlevld HMILD SHLILILD (D) Leysir 698 &) &Iy

Cadlw urgiasriyl uenL (NSG) erba et Siemw&ssgHer S Claweuhi&mg?
A)  eufsssL LHMID COSTHEVGIND SHEDLDEFFHLD
(B) 2s6Ttgiemm S6MIWLEFHD
(C) seumssTy 96ODEFSFHLD

D) 56U QFTLIL SHeMDFFHLD

SieOWEHIWITeT HTHM| @UISSHEISETTEV 6UMSLILIHSSLILIHID LT6OLFLD6W, LN6sTeU(HLD 6THES H(WSHSHLI
uGHsefev sremriiLBlHmgI?

(A)  glemewT QEULILLETITLEY 2 WIT S(P&HS GILIeVL

B) uywsHW Crens GOMHS (WSS LV

(C)  sieven gime GODHS (WSS ClLIeLL

D)  simsu 2 wWF (&S ClLsLL

lesTeu (LD BHlEemes: Seuest] :

D eaprmeug

) &9

) piwsn

IV) emeuens

ey LIETETSHSTHSI6L 6(HID U, MIHM6TE CHTHGIS (H &S :
A4) (D wpmoud (I1I) B) (D) woHmubd (IIT)
© (@ wpoud () D) (D) wpmib IV)

N6sTeU (HeueTEUM NI 6L G Temmallett LOGLI LILPemLOWITesT [ETLILITE6TS HILLLD 6757
(A)  wevbyT BFLUTFTS S LD (B) CGurggyetriy S LD
(C) Y& ungers SILLLD D) Qpuwry urFeTs HLLD
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8.  Which of the following space mission brought Indian astronaut Shubhanshu Shukla to
the International Space Station?

(A) Gaganyaan - 4 (B) Artemis mission - 2
(C) Axiom mission - 4 (D) Blue Origin NS - 18

9.  Which of the following is not a correct match of Five-Year Plan and its objective?
(A) Tenth Plan —  Faster and More Inclusive Growth
(B) Eighth Plan —  Economic reforms and stabilization
(C) Twelfth Plan —  Faster, Sustainable and More Inclusive Growth
(D) Ninth Plan —  Growth with Social Justice and Equality

10. Which of the following correctly differentiates the role of NITI Aayog from that of the
erstwhile Planning Commission?

(A) NITI Aayog retains the power to allocate funds to states, unlike the Planning
Commission

(B) NITI Aayog follows a bottom-up approach to planning with emphasis on
cooperative federalism, while the Planning Commission followed a top-down
model

(C) NITI Aayog prepares Five-Year Plans for the economy, while the Planning
Commission only gave policy advice

(D) NITI Aayog is a constitutional body, while the Planning Commission was a
statutory body

11. What is the GST rate of capital goods in the country?
A) 0% B) 5%
©) 12% D) 18%

12. Which of the following states benefited the most during the initial phase of the Green
Revolution in India?

(A) Bihar and Odisha (B) Punjab and Haryana
(C) West Bengal and Assam (D) Rajasthan and Madhya Pradesh

-4- A
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8.  Mewreupd eNesorQleusfll LwesoTrugssflev o185 @HEHlw afetorbleuefl eSyy susTagEe &&evmemeu
FreuCsF eNevrrGleuef Hlemevw&HEH MG SOPSHE UbHSHSI?
(A)  ssesrwimer - 4 B)  eFLOLLS 6N a6t - 2
©) sHAWD Waget - 4 (D)  desth o Nefesr NS-18

9. Mereu(meussTeummMlev 6781 MBS TeseT(HS SILLEH MG SiH6tT CHTEHESSS MG SFFlwimeT CLm(HSSHLD

2160607

A)  ussmeug HLLD - GoussLomesT LMHMILD 2 6TemLEHE W 6u6T &S

(B) erlLmeugy) HLLD - QuTmeTTSTT FTH(HSHHMISET LDMHMILD
HlemevLiL(h &5 60

(C) uetterflyesorLmeug, HILLLD - GoussLOTeDT, [HEMEVWITENT LOMMILD 2 6TETL S
eueTy &g

(D)  eetTuGTOUG HILLLD - Feps HH) LMHMILD FLOGSHI6USHGHIL 6T Falglll
eUEITT&&

10. MetreumeustToummilev o1zl MBI W CumsHletr Lmens WhHensw HLLE @pelsr Lmkifed(mba
gflure CeumubHSEIEMmEI?
A) FlLs sagemesli CUITEVLEVEVMLEY, LMHlEVHRIGERHSSE, B @R&IHEGD AHSTTHHS
NITI o4,Cwrs: &85 eneus g8 & et (H6Tems)
B) salhmey salLTidleE wWsSHws U Heflsgs  SHLLbl(Heudley  SHphlenev

e Gwenmenw NITI gCurs Netummifmgl, 4Cs CHIHH O HILLE HLilanet
G6v-&£1p rdliflenws NeTumHmIS &I

(C) NITI ,Cwms QUTHETTSTISE DHSETET BHSTET(HS HLLBIGen6TsS SWTHHE DS,
3165 Crr&HHlev S LS sLblansst ClameTens o, CoomaeneTeHsns L (HGL 6uLpHIGE DS

(D) NITI o,Cws @ HFHlwsvenioli] HemWLILITELD, HCH CHIHHlev S L HLilansst
6(1h FLLLILLTEU {6DLOLILIMEGLD

11.  prliyey epevgesrls QumpLlaefesr GST eN&lg b eretresr?
A 0% B 5%
©C) 12% (D) 18%

12. @ndwmelley usemwol Yrlifluler Qrbu SLLSSH60 LNeTeu(HDd 6hg WMHleVHmISET Hsb
LIWLIGBT60) L[5 & 60T
A)  YsrywLOHMID EYET
(B) uEpeml womib emflwmestT
(C) CumE eursb LHMID HFTD
(D)  prmevgmeT MHMID WSHHWL LNFEHEFLD
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13.

14.

Consider the following statements about Kerala’s use of delegated legislation and the

constitutional safeguards in place to check administrative overreach:

1. The Kerala Legislature’s Committee on Subordinate Legislation is empowered to

scrutinize all executive rule-making that exceeds the scope of the enabling Act.

2. Judicial review of delegated legislation in Kerala is limited only to procedural

irregularities, not to the merits or policy content of the rule.

3. The Kerala High Court has consistently upheld the requirement of “laying

procedure” for all major delegated legislations before the Legislative Assembly.

4.  Delegated legislation in Kerala often operates without the provision for public

consultation, which limits participatory governance.
Which of the statements given above is/are correct?
(A) 1and4only (B) 2 and 3 only

(C) 1,3and4only (D) 1,2 and 3 only

Kerala’s approach to disaster management reflects a multi-tiered institutional structure
and integration with developmental planning. Consider the following table showing

administrative bodies and their roles:

Authority Role in Disaster Management
(1) State Disaster Management Authority (1) Final authority for sanctioning
(SDMA) district-level response plans

(i1) District Disaster Management Authority  (2) Headed by the District Collector

(DDMA) and implements local strategies
(111) Local Self-Government Institutions (38) Coordinate with central forces
(LSGIs) for rescue operations
(iv) State Planning Board (4) Mainstreams disaster risk

reduction into state planning

Which of the following is the correct match of authorities with their roles?
A ©-©2), @-(3), (11)-(4), av)-(1) B)  ©®-1), ()-(2), (11)-(3), @v)-(4)
©  ®-Q), ()-(2), (i)-(4), (v)-3) D) ®)-(4), (1)-(2), (ii1)-(3), (v)-(1)
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13.

14.

Capermellest LNFHHSHlsgn FLLHmS LwsTU(HSGH6US WLOHMID HFeurs Bmensvsd &hés
BEOL(PEOMUNGD 2 66T FFIWeVemIDLIL] LITGISTLLS&SST LUMMIwl NeTeuHd M Senssem6Ts
&6uesfl :

1. Garer glLweTmEHS 6T GlenesoTd FLLE &Y, GFWOLHSHID FLLSS 6T surbenL BmID
SIemetTH G| HlFeuTs el 2 (HEUTESHSHENSH WD Y TTI S STFLD CluDmI6TeTs).

2. Gspemmellsv  NpHHSHszeus sFLLSS 6T  BHSH MM  WSHILTLE|  [HEOL(PENMD
peonCahlsEnaE WLHGWL, aNHuN6T HGEHSHHEET eVeng ClSTETENsS 2 6TaTLESSHIM(E)
3|6V6V.

3. Gager 2wj [BHIWTMD FLLDSTMSHSHI6T (LPT HDOTHSH (WeHHW  NTSHblSHegieus
FLLMAIGEHS LD “u@GLL BeoLpenm” Caensuenw CSTLiHEI HlemevbmisSL|eTersg|.

4. Gapemmalley NFHbHlHsseus FLLD CL@HLUTEILD LTl U GeuTFeneTeHETesT gFHLUIT(H
@s6veurrosy ClFwevLIHEMEI, @ &6tT LkIGHML HlFeuTsHSHemns sL(HLLbHSSHIS DS

GCuGev QaMH&sLILL(H6TET NI &Eens a6 6T /eTensu FlWwmesTg?

A 1,4wi(pHod B) 2wHmib 3 LLEHWD
(C) 1, 3wmmib 4 L {HD D) 1, 2womib 3 wl@Hbd

GuiflLy CuevmetTeno& s mesT CoHremTallssT |G Wenm LIy Si(H&E HmieusT Senwlil] WwmHmID
Cuburlhs SHLLblLaL e mrslenemnriienu NFSHussSngl. HliFeurs HenwLiLseT wmHmID
S|eUMHM6BT LIMI(GH&H6M6T STL(HILD LIN6STEU(THLD L L 616N 6TIT6n I &6160f] :

SIS STFLD GuflLiy GosumesoTemLOUNGDT LIMI(E

(1)  wrhlev CUALT CevmessTemio genewrwid (1)  SenId) eULPHIGUSHEHTET @M

(SDMA) SIFHBTIFemL TEULL i6TeaslevmesT
MICIDTH S S L MhigsT
(11)  wmeulL GuIfiLy GevmessTemid i emesorwid (2)  wmeulL YL HWF Henevsnlouiley HmILD
(DDMA) 2 6TeaTH T 2 SHBemeT ClFwevLI(H&SIE MG
(1il) 2 6TeeTH G- T [H)M)|6LETTMRIGET (3) Ly BLOIYEDSSEHSHSTS LSS
(LSGI) LI6®L85(6THL6DT 6@ (hhIE5)60) 6587 &5 860
(1v) wrBlev SILLLSIL6Y eumflwid (4) wrhlev HILLOLeOEY CUALT HUTWSHNSHS

GMDLULSMETET (PHSIW [ECTTLLBISET
LNeT6U (HEUETTEUM M6 6T FITEUMS SiemLoLiL| LoMHMID LkiE, Fflwms QummhaSna?
A)  ©-@), ()-(3), (i)-(4), (v)-(1) B ©-1), ()-(2), (11)-(3), (iv)-(4)
©)  ®-1), ()-(2), (iD)-(4), (iv)-(3) D) ©-4), ()-(2), (11)-(3), (v)-(1)
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15.

16.

Which of the following best explains why the implementation of Land Reforms in Kerala
succeeded in altering the agrarian structure, yet failed to generate proportionate rural

industrialisation or employment growth?

(A) The Land Reforms were legally weak and lacked proper enforcement

mechanisms.
(B) The redistribution of land was limited to barren, non-cultivable holdings

(C) Land Reforms removed absentee landlordism but failed to integrate with a

long-term rural economic strategy

(D) The high literacy rate in rural areas led to large-scale migration, making local

development unfeasible

With reference to the functions and limitations of the Kerala State Planning

Board(KSPB), consider the following statements:

1. The KSPB operates independently of the Finance Department and prepares the

budget for developmental sectors.

2. KSPB’s advisory role ensures participatory planning, but it lacks statutory powers

to enforce implementation.

3. One of the key functions of the KSPB is to harmonize the objectives of the

Five-Year Plans with the State’s annual plans.

4.  KSPB directly monitors the performance of the Local Self-Government Institutions

(LSGIs) in real time using GIS-based platforms.
Which of the statements given above are correct?
(A) 2 and 3only B) 1,2and 4 only

(C) 2,3 and 4 only (D) 1and 3only
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15.

16.

Carermailey BHlev FISHl(HSSMISnET HWLLU(HSHGH6US S eNeusTl SLLenlenl THMIeUSH 60
CleummMl CluMMGI, U eoTTEL NEGHTETT SFTLLLMD GISTLHEVDWIDTES H6V6VE| GCouemeveuTUILIL
eUETTEF D 2 (HEUTESS SHeUMILG| eTeTUSMETeT FIMhE aNeTse5Hme L6l (HeusTeuDH M6 6T5)
eNens&HE MG ?

A) Hev FrHHESSmIGST FLLULToULTES ULsveleroms @\ (mbaest, Gueyb Fflwmesr
SILO6VTES 6ULSl(LPEDMSEIT @)6V6M6V.

B) Blev wLMUAFe Siflar BlVINTLSSHIUSMS HEHSIIGI, 60TV [HE5TLSTEV SFTOLILIM
CUTmHETTS T 2SS WL 65T 6(HhIHen6ettTSH eSS HeumlalllLg)

(C) Blev FrHmsariser aurms HUNTLSSHIUSDS BHET, U 6oTT6L [HETITLSHTED
&rmolym CUTHETTSTT 2 &HU|L6T 6(Hr&lenesTsss &6umledll Lot

(D)  #Armolymrisstlsy 9Ha sevalwney eNHsb GLflw SsTaNsvmsst @LIELIWIT|SE,
suLfleU G55 S], 2 6TeeTHT eUeTTEFlenW FTSHHWILMHMSTEHSIWIS]

Cayer  wmbBlev  HLrdlLey surflugdler (KSPB) Qewesiumpaser womid eurbLsensme
GOILN[HensUN6Y, LN6BTEU(HLD HMSHen&EHEn6TS Seresf] :

1. KSPB 1&g sgienpuledmha swurderons swsubhEng womib Guburihs
DM EHESTET LL6I®LemLE SWTHSSMG).

2.  KSPB @etr o Geumgemests ukig ubiCsmLs SILLSLenew 2 mih CEWHmgI, 6men
QrweLhHSHmeE ClFWLILI(HSHIUSM (S NSM (G FLLULLTEU S STTMRISET @6V6m6V.

3. KSPB @eir psHw QFwsiumphiaefley epetmi, sbaressr(hs SlLmbiserflesr Cnbimesmisensr
LOTH6VS ST U, 650T(H & S LIS ETHLEIT 6285 enFLILIST(SGLD.

4.  GIS sliuemLullevrer HemhiGenel LWeTUHSHSE 2 6TeahT &W-ra HmieleThigerler
(LSGI) Qzwsvgmensst KSPB Cririgwimss setmamenilsSmg).

CuBev G&TH&sULL (6T Fanmiserfley sreneu Fflwimerensu?
(A) 2 wHmib 3 LD B) 1, 2womib 4 wl@Hb

(C) 2, 3wmHmid 4 LLEHIWD D) 1 wmmid 3 wLHWb
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17.

18.

In the context of Kerala’s approach to e-Governance, which of the following reflects the
key factors that have contributed to its relative success at the grassroots level?

1. Integration of e-Governance with decentralized planning processes.

2.  Strong technical support from autonomous agencies like the Information Kerala

Mission (IKM).
3. Exclusive dependence on private IT vendors for public service delivery platforms.

4.  Active involvement of local self-government institutions (LSGIs) in digitizing

citizen services.
Which of the statements given above are correct?
(A) 1,2and4only (B) 2 and 3 only

(C) 1and3only D) 1,2,3and 4

In 2024, the Government of Kerala launched the “Climate Resilient Kerala Initiative”
(CRKI), which aligns with the state’s disaster risk reduction and sustainable
development goals. Which of the following features correctly describe this initiative in

the context of Kerala’s governance and planning system?

1. It integrates climate adaptation strategies directly into local self-government (LSG)

level plans.

2. It is coordinated by the Kerala State Disaster Management Authority (KSDMA)
and funded solely by the World Bank.

3. It emphasizes watershed-based development and nature-based solutions for

disaster-prone zones.
4. It mandates the use of climate vulnerability indexing in district-level planning.
Which of the statements given above are correct?

(A) 1,2and4only (B) 1,3 and 4 only

(C) 2and 3only (D) 1and4only

-10- A
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17.

18.

Carermeilest Ll6T-y,EThHenLD S650)|(S(Pemmuilest LNesTestesniluiley, iglol L Siemalley H&HetT eoLISL(H)
QeupMa g Lkisefss WwaHw srrenflssfley gl NS uedsHmng?

1. LFeUeVTSHSLILILL SHILLLSIL6Y Gl&F W6V (Lpem Mas(STHL 65T LO165T- 4, (6THEMLOUT 63T 69 (T 6m6TOTLIL.

2. soeusy  Gager  Wewstt (IKM) Gumesrm setreormid)l  Himieuesriugsefler  eusyieumest
CETHILBILL hST6.

3. Qurg Cemeu 6UPRISHH HEThRISEHSE SHoIWTT g eHLeHeTWTETFEHem6T L (HGEL
FMTHS BSSE-

4. BWYLES6T Caameusener 19l L6y LDWIDTEG6USD 2 6TesThT &FW-HT& HlmIelesTraigerflesr
(LSGI) QgwedNev FELm(.

GGev QamH&asLLL (BT Fanmiserfley sTeneu FflwimeTensu?
(A) 1, 2 wmmid 4 L {HIb B) 2 woHmib 3 wL{HWD

(C) 1 wmmb 3w Hid D) 1,2, 3wmmwp4

2024 =y1b oy 6t011960, Carer Sira “smeublensy et Cayem wetrpwmd)” (CRKI) ;8 QamLridlwgy,
@&l wrhlevgder GCUIILT SUTWES (GHsOmLUL WHMID Henevwmsst eUeTTES  @)1608 (88 (6THL 6T
@R&FHILCUTEIDS. CagersHlet Hfeursd wLOHMID SHLLSILL enwlNer (EWRedsd @bhs
weTwwhHenw Nesreu(mHd SbemiseMsv erg) Fflwms eNeufl&Hme)?

1. @5 &meublensy SHH:euenLL 2 SHHEemer 2 6meshT  sw-rsHE  (LSG)  oyemefevmest
SILLMISEHL6T CHIQWITS 6(HMhIH en6etTSE MG

2. @&  Goger  wmHlev  GufiLy  Cuevmesren  syememTwHHTL  (KSDMA)
R(HEISMETTSSILL(H 2 608 eurm&lwmey WL (HGW H&HlwefssiubhEng.

3. @& CuLY LUTSILILISG6ITETTET LDEBITL 6VMIS (EThESTET Hbleney Fmyhg GUm(b wmmID
Qupens FTIHS STe|seneT uedlNISSIS DS

4. wreul L Sereflevmest HILLISILeOl6L smevblemey LTSILIL GMUTLenLl LweTUbHSHGleuens
@& BLLTWLTSGSE DS

CuGev GsTH&sLULL(HETT Fapmiserfley sreneu Fflwimerensu?
A) 1, 2wmHmib 4 LLEHID B) 1, 3woHmib 4 wLHbD

(C) 2 wmmb 3 wLHibd (D) 1 womib 4wl

-11- A
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19.

20.

21.

Consider the following statements regarding the Kyoto Protocol:

1. The Kyoto Protocol is an international treaty that commits its parties to reduce

greenhouse gas emissions.

2. It was adopted in 1997 and entered into force in 2005.

3. The United States ratified the Kyoto Protocol and played a leading role in its

implementation.

Which of the above statements is/are Correct?
(A) 1and2only (B) 2 and 3 only
(C) 1and3only (D) All of the above

Properties of cardiac muscle cells given below:

1. Cardiac muscle cells are unbranched and contain single nucleus
2. It is striated and involuntary

3. It is supplied with autonomic nerve fibres

4.  Intercalated disc is a thin and single membranous structure

Which of the above statements is/are NOT Correct?
(A) 1,3 and 4 (B) 2and 4 only
(C) 1and4only D) 1,2,and 3

Consider the following table with vitamins and their deficiency diseases

Vitamins Deficiency diseases
(1) Thiamine (1) Rickets
(1) Calciferol (2) Scurvy
(111) Retinol (3) Beriberi
(iv) Vitamin C (4) Pellagra
(v)  Niacinamide (5) Nyctalopia

Which of the following combinations given below is Correct?
A)  ®-3), ()-(1), (iD)-(5), (v)-(2), (v)-(4)
B)  ®-(5), ()-(2), (1)-(3), (v)-(1), (v)-(4)
©  ®-(4), -2, (11)-(1), @v)-(5), (v)-(3)
D) ®-G), @)-5), (1)-(4), (v)-(2), (v)-(1)

-12-
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19.

20.

21.

S CwmLCLT CIBEMIpemm CISTLFLITET LN6TEU(HLD HM&H6n&HEHm6TE Sevesf] :

1. HCWrLCLT GBMl(penm 6TETLIS| H&65T STLILNET Ligenlo @6evev eumw GleusflCummsenss
&MEHS 2 MGl Wef &G e(h FFeuCHF LUILIHSLOMELD.

2. @s&1 1997 @60 gHmIs6smeTeTLILIL(H 2005 @6 HEDL (PEMME (S UHSHSI.

3. SCwflear  HewrlCLr CEpmiwenmenw SESESFEHSH Hmg GClFweL(hHSHg el ev
(petTevTensflL LImsTMHMILIS).

CM&esTL Fapmiserfley eTg Fiflwimesrg)?
(A) 1 wmmib 2 wi{Hb B) 2 wmHmib 3 wLHbd
(C) 1wmmib 3 LD (D) Gumsamu eneTsHgID

&0 Qam(HissLUL(H6TeT @ &Heng ClEsuse6rl6tT LIssoTL| &6 :
1. @5W 5608 ClF6LE6T HleM6TEHSLILILITSEn6U LDMHMILD MEnM &(Hen6us 6l&mesoT (H6TsTeT.
2. @& CamH&ssT MHMID SHetTesllFemnewDHmEI.
3. ©) & HetTelWES BILDL| @eMLPSH6TTEV eUPRISLILHISIDEI.
4. @ enL&&6ufILIL 6uL(h) 6T6TLIG] 62(TH GILO6VESIWI LOMHMILD ERMEDM F6L6Y S{EMLOLIL.
G &6sTL Fahmis6rfley eTg| FHlIMeTg) 360607
A) 1, 3wHmid 4 B) 2 woHmib 4w Hbd
(C) 1wmmib 4 L {Hb (D) 1,2woHmw3

m6ULLLSI6STS6ET MmMID Seummles @Gemmumb CBmseT Gla&mesoTL 6o (HLD L L6U6EH6TTen WS
&6uenf] :

em6UL L Ll65T &6 Gemoum(h) CrmiisgssiT
@) Slwimislest (1) fs6slev
(11) HTeuFlcoGILITTeL (2) ev&EFe
(111)  QrliyGesrmsy 3) QuQuf
1v)  emeulLidlesr & (4) Queveumsym
) Blwim&lestemio ) (5)  HeLComNwm

&0 QamhissluLl(HsTer NetTouHb CojoHemasaseiey gl Fflwmerg)?
A) ®)-@), ()-1), (i)-(5), (v)-(2), (v)-(4)
B) ©)-(5), (i)-(2), (ii)-(3), (v)-(1), (v)-(4)
©) ®-(4), ()-(2), (11)-(1), (v)-(5), (v)-3)
D) ®-@), ()-(5), (1i)-(4), (v)-(2), (v)-(1)
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22,

23.

24.

25.

Consider the following statements regarding amino acids
1. Leucine, Isoleucine and Valine are non-essential amino acids
II.  Glycine is the smallest amino acid
III. Cystine and Methionine are sulphur containing amino acids
Which of the above statements is/are Correct?
(A) Tonly (B) 1II and III only
(C) TIand III only (D) All of the above

Consider the following statements about diabetes mellitus:

1. Diabetes mellitus is a metabolic disorder characterized by high blood sugar levels

over a prolonged period.

2. Type 1 diabetes is caused by the autoimmune destruction of insulin-producing cells

in the pancreas.
3.  Type 2 diabetes is primarily caused by a viral infection in the liver.
Which of the above statements is/are Correct?

(A) 1and2only (B) 2and 3 only

(C) 1and3only D) 1,2 and 3

Kala-azar disease caused by
(A) Salmonella typhimurium (B) Varicella zoster

(C) Flavivirus (D) Leishmania donovani

Which of the following statement/s is/are True?

I. Nayanamritham 2.0 is an Al powered eye screening initiative of Kerala

government.

II.  This is the first government Al assisted screening programme to identify diseases
like glaucoma, diabetic retinopathy and age-related macular degeneration.

III. Nayanamritham 2.0 enhancing convenience, efficiency and cost-effectiveness by

incorporating Remidio’s Al technology into the healthcare system.
(A) TandIIonly (B) Ionly
(C) TIandIII only (D) All of the above
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22.

23.

24.

25.

SIBCeoTT ByLlevrmIS 6T GG TLTLIT6T LN63TeU(HLD SaMMISHEn6TE Seuest] :

L ol &Fletr, Cemeumdlest wMMID Ceusdlerr YHlweneu SHWTeuFlwbmHD LB Ceorm
SOV RIS 6T

II. Hlemer et Blag Fpilw 3L81CGesT 4Lil6VLd
III.  HevenLssr wMHMID GILSHHCWTEn6rT6T Y HlWwieneu FevLIT ClaTeBTL SLSCEBTIT LOl6VhIgH 6T
G aesTL Fanmiserfley erg Fiflwimesrg)?

(A) ITwl@w B) I womw I wi @b

(C) I'womibd IIT i HIb D) Cuohsamwu ieneTsHEID

Bflfley Crm Lmlw NlesTeu(HLD FammIHen6Ts SHevest] :

1. Bflfley GBm  eTetTLG| HESTL STVSHSINEG UHS QISHS FTHSHEO] S 6TESHETT6Y
suen&LIL(HSSLILHID 6(H eueTTHens LTMHME CHTETTM| Y (GLD.

2. oLl 1 Biflfley Crmil senemrwigHHlev @esTa60l6T 2 MLISSH ClEwiu|b ClFeu&6rlesT &H6tTemIL6v

BT&Hs SLPleursy gMLHIEMSI.
3. oLl 2 Bflfley Crm (WaHeTemLWTES &H6065T6060 gHUEIL  eneure  G&HTHMTEL
gOUGHDS.
CupaesuTL Fanmiserley erg Fflwimera,)?
(A) 1 womb 2 i Hid (B) 2 wmmib 3 wlLHbd
(C) 1wHmib 3 wL{HID D) 1,2wHmid3

SM6V- &My GBI @ geTTsv goLbhlEma) :

(A) smeLGmGlesTevsurT emL ool (Wb B) GeuflQgsveur CemenvLiy
(C) SoNermafeneuryen D) 6S6ipCueslwum GLrGesrmeumesf]
NedTeu(HLD Fammisseflsy erg) &ifl?

L BweTmslFs 2.0 sresruigy Casyer iyfleir Al @uirkigLd seer LfICaTHen6T (WMHE.

II. &QererGamwom, Biflfley GrlgGsrmudh) wOHMID euwgl GCHTLIUTET LTEGNT Hengey
Gumesty Crmisenersd sl @& waev ors Al 2 geflyLer Fagw Henguiey
SILLLDm(G)L.

III. pwemdijsnd 2.0, &srsmy  Seowlfe  QrBlyCumelesr Al  QamdmILLSHS
@ ememTLILISET  PLPEVLD eugs), Qewevdmer  wOHMID  ClFve-GlFwsvdHlmenest

CuLUHSHSIMG.
A)  Twomw ITwiEw (B) Iwl@
(C) Twomw III wLEW (D) CuwGev 2 6T iEDETSHZID
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26.

217.

28.

29.

30.

What is the largest number not in the form 5x + 8y, where x and y are non negative

integers?
A 14
B) 37
(C) 27

(D) No such number exist

A can finish a work in 10 days. B can finish the same work in 15 days. B starts the work

for 5 days and then A completes the work. How many days did A work?
4) 4 B) 5
€ 6 O 7

A train 150 m long is running at a speed of 72 km/h. How long will it take to cross a man

running at 6 km/h in the same direction?
(A) 8.2sec B) 9sec

(C) 8.7sec D) 7.7 sec

Two towns A and B are 120 km apart. A car starts from A towards B at 55 km/h. At the

same time another car starts from B towards A at 45 km/h. When will they meet?
(A) 70 min (B) 72 min

(C) 83 min (D) 85 min

If the sum of first three terms of a geometric progression (GP) is 21 and their product is

216. Then what is the common ratio?
@ 3 B) 5
© 4 (D) 2
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26.

27.

28.

29.

30.

X WOMID Yy YEHlenel THFOMD VTS (P(L ETEOITHEMTE @HSEGW dx + 8y  6uUlgeuSHHlev

@6veorss LI eresT 6752
Q) 14
(B) 37
C) 27

D)  i5zmm8W TeseT ETHIO|LD @)6VEn6V

A @m Geusmsvenrws 10 BrLsefley (isHs ipwb. B 9165 Ceusmevenw 15 mrigeflsy (plgsHss
wuywb. B 5 prisensE Coumevenwsd GmLiiGH oy, MNestery A Ceuensvenw (PlsE M.

A erggemet BTL&6T Couemev ClFWIgTT?
A 4 B 5
€ 6 D) 7

150 16 Bem(weite ep(m TuN6L 6o &G, 72 S CoussHl6v sp(hl&HIMEI. GT SHlensgulilev Wwevsfla & 6 &1L
CousgHl6b e(HID ER(HEUEDTE HLES 6T6L6U6TEY CBHITLD (&7

(A) 8.2 eNesrmigseir B) 9 eNevrmyaser

(C) 8.7 eNesrmigamsei D) 7.7 eNesrmig i

A wpmib B g Hlw @resor(h) magriser 120 &).15. @emLGeusfluNsy 2 6Temest. eo(h &My A @eN (Hbg)
B Crrad wenflsg 55 &b, CoussHey GemLmEGHDS. HCH CrrsHHs womepmm sry B
©6NmHH A Crmed wewwlld@E 45 &).15. CoussH 60 FTLEIGHMS]. Semeu eTLICLITE)] FHhH6EL0D?

(A) 70 HLALD (B) 72 HWLib

(C) 83 ML (D) 85D

@, sugellwey (WerCermmaHlett (GP) waev ewetrm 2 mitigsefler sal (HE60sTens 21 y&Ha|b,
SieupMest CLHESH 216 g sa b @) ([HHSTEL. Clurgleumet eNf gL eresTesr?

@A 3 B) 5
© 4 D) 2
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31.

32.

33.

34.

35.

36.

317.

Find the odd one out:
A) 36 (B) 49
(C) 64 D) 81

If LION is coded as PNKQ, what will be the code of TIGER?
(A) VNTGI (B) VKTGI
(C) TVKIG (D) GKITN

LION : Carnivore : : COW :
(A) Mammal (B) Omnivore
(C) Herbivore (D) Reptile

At 3.45 AM what is the angle (in degree measurement) between hour needle and minute

needle in an ordinary clock?
(A) 1575 (B) 180
(C) 156.5 (D) 167.5

What is the remainder when 17193 is divided by 5?

4) 4 ®B 3
€ 2 D) 1
Whoever entices a child out of the keeping of without the consent, is said to

have caused kidnapping.
(A) Father (B) Mother
(C) Parents (D) Lawful Guardian

Which of the following is not an element of offence of trafficking in person?
(A) Exploitation (B) Consent

(C) Abuse of power (D) Use of threats
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31.

32.

33.

34.

35.

36.

317.

eNSSHWITEFLOITET 660T6MME &H6voTLMIWELD :

(A)
(©

36 B) 49
64 D) 81

LION snw PNKQ stest gmluiitiutLmey, TIGER @mui(h) erstrestoumss @) (més@w?

(A)
(©

VNTGI (B) VKTGI
TVKIG (D) GKITN

Hms : wmdeae sssress] : : LG :

(A)
©

LImeuTL i (B)  &y6u 2_esorevnf)

ST6UTT 2 65T6501) (D) oerjeusst

smemev 3.45 wewfleE @ FTaMretT SusTrsHHley WenllCHy adleEn HISIL 2arfls @b

@enLufNevmest Casmenid (9. Sj6meSiLg6v) eretrenT?

(A)
©

157.5 B) 180
156.5 D) 167.5

17193 a0 5 9460 6UEHSST6L L eretTenT?

(A)
(©

4 ®B 3
2 D) 1

FLOGLD @)6V6VITLOEY GLPHMSHEOW 6UTTEHS eNILITO6Y WITENTWITeUS| &H6eUFHE(LDSHSHT6L,
S|UT HLESHNIEE8 SMTESTIONSS &(HSLILI(HeUT.

(A)
(B)
(©)
D)

BHOS
ST
QumHGmmy

FLLULLTOU LITSISTeU6VT

NetTeu(hHeUeTeUDMIEV 678 BLIT HLESH) (GMHMSS6T 62(h HMBISHLD H6V607?

(A)
(B)
(©)
D)

GrIT6BBTL6V

RUYS6V

ST HlauNFGwmsLD
SIFFMISHSHE0&HEM6TLI LILIGITL(H &85 60
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38. Defence of insanity can be granted when it is proved that a person at the time of doing
an act by reason of unsoundness of mind was incapable of knowing

(A) nature of the act

(B) that what he is doing is wrong

(C) that what he is doing is contrary to law
(D) either (A), (B) or (C)

39. Which of the following will not fall under the offence of stalking?
(A) Following a woman
(B) Monitoring the use of internet by a woman
(C) Capturing image of a woman engaging in a private act

(D) Contacting a woman to foster personal interaction

40. Which of the following is/are correct about private defence?
(1) Private defence is available with respect to harm to body only
(i1) Private defence is available with respect to harm to body and property

(11)) Private defence is available only when there is no time to have recourse to the
protection of public authorities

(iv) Private defence is available against persons of unsound mind
(A) Only () is correct
(B) Only (i1) is correct
(C) Both (1) and (1i1) are correct

(D) Options (i1), (ii1) and (iv) are correct

41. Which of the following is not correct in respect of confessions recorded by the magistrate
under the provisions of BNSS?

(A) Before recording the confession, Magistrate shall inform the person that he is
not bound to make a confession

(B) Magistrate shall warn the person that confession recorded may be used as
evidence against him

(C) The person shall be sent to police custody after the confession is recorded

(D) The statement shall be signed by the person making the confession
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38.

39.

40.

41.

westhleney FFluleveVTs SMTTEsTSHSTEL (T ClFWemMeVs CFISCUTE (HeUT ML @UIVTSHEUTTS
@mBsTT eeTugl HlepssEILLLTE, USHSSTTHSOTHSMETET LUTHISTLEHL  6UPhIS
Pyuw.

A)  QFwedetr HesTEMLD

(B) sieur QFileug Heumi

(C)  sour QeFwoug FLLEH DS (PTESTTETS)

D) (@A), (B) sievevgi (C)

SlesToU (HeUeTTEUM M6V 678 LNGTEISTLITSH6V (HMHMSSH6T £Lp euFTs?
A) s GuesTenswTL LNGTOSTLT6US)
B) e QU6 @enemTgSens L1 LIL6STL(H 881616058 68T Meusf1 8860
(C) @ seuulL GFwesdley FHLGHID e (F GuesTesnile LULgGengL LILDL S 560
D)  selUULL QSTLILSE6T 6UsTTLILSMHSTES 62(F ClLIETTEn6ewTs O TLTLG\& 661

seslwmy UTGISTLL ($HM)&S! L6sTeu(heuesTeummlev 6T &FiflulmeTs)?
(1) 2LeysE gnubb SmiE OsTLiums L HGWL seflwmy urgismiy HenLsHng|
(1) 216V MHMID OFTHSIHE FHUGHID SkiE CSTLTUTS Seslwmy urgsTliL HenLsSEna
(111) Ourg HHamfsefler urgisTiemu BTL CrrlsveLTECLTE WLHIGW Sesllwmy urgismiy
&lenL&EI Mg
(iv) wesrhHlemev FNUNCLEVITS HLITEHEHEE THTTH HevflWmF LUTHISTUL HenLsHE Mg
A) (@) wLECW FlwTeTg
(B) (@11) wlHGw FNwmeTg)
© () wpmb (i) @rew@L sflurars)
D)  eN@LUmseT (11), (111) Hmb (1v) Fflwreseneu

BNSS efflgeflesr £ BHUH uHey CFlg @ULUSHH UTSHEGPEVRIGET CHTLILTS
LN 6dTeU (HEUETELM 6L 678 FfIWLITEsT&H6060?
@A) @0Use uTEGLaSMSL Ll GaliusDE W6, BHUS AbS PLBGES BLILSED
6UTE (&ELP6VLD 6Tl 8 GoussoTigwl &L LTWID @)evenev eTesTm) GlsflaNlsa Geuesor(hn
B) udey QeuwlulL @UUSH 6UTSHEGEPID eU[HSE 6THITS  YSHTITSL
LwesTU(H&SLILILEVITLD eTesTm| IEHLISH) DB HLI(HE(E) TESFFILILITT
(O) euUusev aumsEepeud uHey QFLWLULL MG SibBS BUT CuTeSe &TeussE
S Luiuheury
D) eumsEGepeud Si6IflEEW HUTTEL SHS AHMEems ema6lwmiuILLILL Cousssr(Hb
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42.

43.

44.

45.

Warrant case means
(A) Offence punishable with death
(B) Offence punishable with life imprisonment
(C) Offence punishable with imprisonment exceeding seven years

(D) Offence punishable with death, life imprisonment for life or with

imprisonment for a term exceeding two years

Which of the following is not a valid requirement for an FIR?
(A) It must disclose the commission of a cognizable offence
(B) It must be given orally or in writing or by electronic means
(C) It must be given by the victim of crime

(D) It must be signed

Any statement made orally or in writing to a magistrate with a view to his action under
Bharatiya Nagarik Suraksha Sanhita, alleging that some person known or unknown has

committed an offence is known as
(A) FIR (B) Complaint

(C) Police report (D) Summons

A person having knowledge of the commission of which of the following offence has a

duty to give information to the nearest magistrate or police officer.
(A) Bribery
(B) Grievous Hurt
(C) Wrongful Restraint

(D) Counterfeiting coins
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42.

43.

44.

45.

GUITIT60OTL 6ULDEH (S, 6T6OTLIS)
(A)  wrenr s @ GHOD
(B) e pesTLemeTEHG W GHHOID
C)  gw UETHsEHSE C6v FlemmssetTLenssTs G W GnDmLD

(D) e sevTLEMEsTS G NW (GHDMLD, QU6 SHEBITLEMEST H6V6VG| @) T68oT(H 24,683 (H & (6THE (S,
GLoev Flemm & &6veTL6M6TT 69 H&H&HSHSHEHES (HMMLD

Nesreu(meuesTeumnilev o1 FIR-88 QFsveyLigwinsrg spesrm)?
A) o5 @M SeoLWmeTd STenTéalll GOHME ST CFwsuTienL GeusfliLbhss
GeuevoT(HLD
B) s aumwGLTHWTECET 6LEVG 6TWPHSI CPVLTHCEUT 6VEVG| LO6ITETEsD)
6uLBl(PEmM ST eLPEVLTEHGCEUT G&M(hH&asLILL Geaussor(hd
(©) GBHDE&EETEL UTHSSLILLLETTE gl C&T(HSsLILL Ceusser(Hb

D) o5 msCWriLLULL CoussT(Hib

urrlw Bprsifle sreaer seranlgrelsr &, C5fHe Sevevgl CSAWTS @HeUT Q@ (HDHMLD
CEwssTEs saml, HeUTH BLOUYSMSSESETS @ HHLUSHEHE eumGLTHLTECaur 60608
(WSS epeulomaGeurm ClawwiLI(HID 6T 6leUm(h SM&em & WL :

(A) FIR B) uysmy

(C) smeush NGS5 (D) sbwesrsmsT

NetToU(HLD 6THSHE (HNMEHMSHE ClFWLISHHTH AMHS RHEUT S (HEI6TT HHILS H6L6VS ST6L6D
B &MlE G HH6U6L 3 61fléa Couettrigl SLenWenWw S 6l messT(h6Temiy.

(A)  evepFD
(B) shevwwmet smwib
(C) seupmer sLHLUTEH

(D) Gumed mmeTETWRIGST
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46. Which of the following statements is correct as per the Bharatiya Sakshya Adhiniyam
20237

(A) Ewvidence includes only oral statements made by witnesses in physical

presence before the court
(B) Evidence means all statements including electronic or digital records

(C) Ewvidence includes oral statements permitted by the court and documents

including electronic or digital records

(D) Ewvidence includes all oral statements and documents including by electronic

or digital records adduced by parties

47. Which of the following statements is correct regarding admissibility of a co-accused’s

confession?

(A) A confession by B that “A and I murdered C” is admissible against A even if
A and B are not being tried jointly

(B) A confession by A that “B and I murdered C” can be used against B only if
A and B are jointly tried for the offence

(C) Confession of one absconding accused can never be used in trial

(D) The confession of a co-accused is considered primary evidence

48. In a suit for declaration of legitimacy, A claims to be the legitimate son of B. The court
considers that A was consistently treated as B’s son by B’s siblings and cousins. Which of
the following best explains the admissibility of this evidence under the Bharatiya

Sakshya Adhiniyam, 20237

(A) The treatment by B’s relatives is irrelevant since only the father’s declaration

1s admissible

(B) The conduct of family members with special knowledge of the relationship is

relevant to show the existence of such a relationship
(C) The conduct is hearsay and inadmissible

(D) Legitimacy cannot be proved without DNA evidence or documentary proof
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46. umrSw srsasw Hesflwbd 2023 @ebrLig, LNesTou(hHD Fammiseilev gl Fflwimerg,)?

A)  erLAser steTLg) BEHeTMSHS 6T (p6iT Chifley FTLdlsemmey GlewniiulL eumiiGomy)
SN &ensEHm6T WL (HGL 2 6TerLsEH WG|

(B) <oy eretTug  WletTeam)  i6V6VG WILLEY LHeHET 2 LLL  HMETHSI
SIMISHNSHHEM6TWLD (&M SHE M|

(C)  oummI eretTLg) BHISTMHST6L HeIWHSHLILLL eUTUGLTLH M &HMSBS6T LHMILD
WletTeoTemm| V6V G| L9BILL60 LSeYsBET 2 LLL HDTHFH HM)EEMSHSHEN6ITWLD
2 6TeTLEEIWIG)

(D) <oy eeTug HLASETTN CFFHSLILLL LO6TETEm)| H6V6VG| 192 L6V LIgle 6T
2 lLL  SeneTHg  eUTWEILTY  SNEMSHET  LOHMID Y 6UTITRISENETWLD
2 6TeTLEEIWIG)

47. @enewt GDMeumsluilest 6uTsEGepevsensd FOHMISHCISTsTUS CSTLIUMS NaTeu(hd sammiserflsy
org| Fflwmerg)?

@A) “A womid I C g Gsmeney QFLIGCHsT aTetTm B samib surs@epsud A womitb B
QAW @Qmeumn Falirs  eNemflasluLmellLmen A &E  aHyns
FHMISCSHTETETS 58858

B) “B wmmid I C g Qamensy GleiGsetr” etettm A samid eums@epsud A womib B
EW @ meupd Fallres eflFmflssiulLme wiHiGw B & ehrmal uwetuhss
Wiguyid

(C) semevEnMEUTET (I HDMeUTeluN6T 6UTEHELPEVSHNS HOUTEID e myenessruiley
LweTuhSS (Plwrs)

D) @evewt GHMEuTENUNGST EUTE EEPEVLD (PHESTEMLD HSTTOTHES &(HBLLHIE MG

48. gLy feugsseTenwenw SiMeNliughamer eupsdley, A srer B @esr FliliLfeu o&Hesr eTetTm)
FgamEDTY. B @6t 2 Lemmiiysst wHmib 2 melerjsemmey A QarLihg B @etr waerms
BLESLULLLSTS BSHIWeTOD SHHHIEMSG. uMFHu srsaxw HHlesflwb, 2023 @er £p @Hs
UBTTSHH 6T FHMI&C\SHTETETEn6L L6tTou(hHeussTeUDM6 678 FimLiLITe eNemes @GS ma)?

A) shHeogullear WrsLerd WLLHGCWL FHMISC&ETETNSHHHE aTeTUSTL B @bt
2 MeNleTI&6ITT6L BLESLILI[HID FlEFens ClUM(HSHSLHMESI

(B) e2memeuls upmwu Amiy Mlemeus GQamerL GHWLU 2 milieTisefleT HLHnS
SI5HMSI 2 Medl6sT @)\(HLIeOLS STLL GILIT(HSSHLOMETS)

(C) pL&®E LHMID FaNeuNF QFLIH FHMISCSETETET (PigWTHS)

(D) DNA snetmiser 260608 S4LEeU6TT QUSTTLD @EV6VMIEY FLLLILLTEUSS6T6nLO6H Wl
HlemLNGES (PIgWITg|
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49. In a boundary dispute, a party relies on a government-issued map published and sold in
the market, showing the division between two villages. How will the court treat this map
under Section 30 of the Bharatiya Sakshya Adhiniyam, 20237

(A) The map is a relevant fact as it contains statements made in published charts

generally offered for public sale
(B) The map is irrelevant unless accompanied by witness testimony
(C) The map is inadmissible unless certified by the Survey of India

(D) The map is considered conclusive proof of the boundary

50. An accused in police custody reveals the location of a murder weapon. The police recover
the weapon from the place mentioned. What portion of the accused’s statement is

admissible in court under the Bharatiya Sakshya Adhiniyam, 2023?
(A) The entire statement, including motive and confession
(B) Only the part of the statement that distinctly relates to the fact discovered
(C) The statement is inadmissible as it was made in custody

(D) The statement is admissible only if it was recorded by the Magistrate

51. Which section of the RTI Act lists categories of information exempt from disclosure?
(A) Section 6 (B) Section 8
(C) Section 11 (D) Section 2(f)

52. Under Section 9 of the RTI Act, an information request can be rejected if:
(A) TItisrelated to a third privacy
(B) It invades personal privacy
(C) It infringes copyright

(D) It relates to the Parliament

53. What is the main focus of section 11 in the RTI Act, 2005?
(A) Public authority obligations (B) Appeal process

(C) Third party information (D) Suo moto disclosure
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49.

50.

51.

52.

53.

TEVEn6Y SEHTMMIV, (H STULNET) HFFMTmISESSTEL GleusflulLuuL(h shengulley eNmH&LiLhHlib
umTULSHmS BN HSEDTTEET, @& @reor(h SlITonsEnsE @enLulleomst Lifleneus
sTLH&SDG. urrHw srsasw HHlesflwb, 2023 @er Nifley 30 @etr £ HHWWeTMD @S
EUEMTLIL G608 6T6LEUTN)| [BLSSILD?

A)  Qurgieurs QuTg eNHLIENETEE, suPrhiIsLILIEHIL CleusfluLiiulL eNershaLiLkigerfley

FgamUULL MI&EmMEH6T @S0 @HLULSTL @HE 6UHTULLD 6(F GILIT([HSSLOm6sT
2 _6UOTEmLD.

(B) e&ridl smlfluggiLe @enentsaliuLTall LTs) euen UL CIUMHSSHLHME.

(C) &76eu ool @bHlwmeumsy FmesTmefeHaUILLTON LT 6UenTULLD HMISCISMsT6T
PYUTSSI.

(D)  suemTULD eTeLEMEVESETET 2 ML WITETT FTEITMTEHES &(HBLILHIH MG,

Gumelsny &meUEOl6L 2 6iT6m (I (GHOMWL FTLLULULLOUT 6&sTemey YuHS5S6m @ HLUNILSnS
CleuefuLBSgIEDTT. GHMILNLLULL @S5S 60 ([HHS CuTeSeT] YW |HHens BLOIL(HSSIDTTaET.
&M FTLLLLLL6UI6T 6UTs & epevSHSH6T 6ThS LGS UMTTHw Freau Hlesfilwin, 2023 @t &1
BTN &S 60 6FMHMI5 S TETETSSHEHSHG5!?

A) YW sNEmsWW, CHTEHSD LMHMILD RLILISHE 6UTEEGHLP6VD 2 LLIL

(B) sewhllyssiulL 2 ewenwwLet Ggeflours GGTLIL LW HM&Hengsuilesr LiGsH
WL HGW

(C)  &meuedley emeuss s ILLIYHHSSHTEV HMBSNS FHMISHCSHTETEIT (PIgWITSH S|
(D) BHUSHwWTeL LHley CEFIWLILL Y HHSTEL L (HIGL SM&HNS FHMISC\&TETETSHSH 555

sHeuev MY 2 fleows sLLsHer ebHsl Nfley Geueflliuhissedled @ mbg alevssE,
oieM&EHULLL 556160 UENSHHEN6T LILIgWied (H&Emg?

A 9fley 6 B) 9fley 8

C€) Ofley 11 D) Ofley 2(f)

&56U60 Ml 2 flenwd FlLsSler Nifle] 9 @etr £, @@ SHeusv Camflasnsenw HlITTsflss
Plgud :

A)  @al epstrmmeugy) sesflufemowLesr QGTLTL LW

B) @a sefllulL sesflyflenwenw s sET&EH MG

(C) @s& ugliyflenwenw BmHmeI

D) @& UTTTEBLETMSHSILET CISTLITLEMLLIG)

B&6U60 MWD 2 Nend FLLb, 2005 @6v 1N1fley 11 @6t (p&HE W HeuesTLd 6T6dT68T
A)  Qurg HFHBMTE HLEOLSET (B) Cusywenrmuil{H QFwesvenm
(C)  eypesTOMD HILIL HSH6U6V D)  swwrs QeuefliL(h &g5H60
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54.

55.

56.

57.

58.

59.

60.

Which article deals with the Speaker’s right to vote in the Lok Sabha?

(A) Article 86 (B) Article 97
(C) Article 101 (D) Article 100

Under Article 101, if a Member of Parliament is absent for how many days, is their seat
declared vacant?

(A) 30 Days (B) 60 Days
(C) 90 Days (D) 120 Days

The GST Council was formed under which Article inserted by the 101t Constitutional
Amendment?

(A) Article 246 A (B) Article 269 A
(C) Article 279 A (D) Article 280

Under which Article does the President of India may address either House or both
Houses of Parliament?

(A) Article 100 (B) Article 86
(C) Article 92 (D) Article 102

Which of the following Constitutional Amendments restored the power of judicial review
of Fundamental Rights curtailed during the Emergency?

(A) 44t Amendment (B) 42r Amendment
(C) 52rd Amendment (D) 86" Amendment

Under Article 106, the authority to determine salaries of Member of Parliament lies
with:

(A) President (B) Prime Minister

(C) Parliament by law (D) Finance Commission

The 105t Constitutional Amendment relates to:
(A) Cooperative societies
(B) Powers of President
(C) Restoring states’ power to identify OBCs
(D) Scrapping Article 370
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54.

55.

56.

57.

58.

59.

60.

&H&6TemeUUNey FLMHTWSIFl6T sumdasefa@w 2 flenwsnwl umm) erhsLl Nifley enswmeTSme?
A) 9fley 86 B) 9fley 97
(C) WYfley 101 D) 9rfley 100

Nifley 101 @6t S, (T BILM(EHOGTD 2 MILILNETT THSHEM6IT BTLSET 6UFTONLLITEY, H6UTS)
BmEms HTEOlWTs @ HLILSTS SMeNssUL[HLD?

(A) 30 prLsssT (B) 60 mriseir

(C) 90 prisesi (D) 120 prissT

10199 gpflwevenoliy HmsssHer epeod  ehsl  NfleNesr Hp  GST  seysrdlev

2 (HeUTsaLILLLGI?
A) ey 246 A B) 9Ofley 269 A
(C) 9fley 279 A (D) ey 280

eThSLI LNifledlest £ @BSHIWS (LYW SEMm6eVeUl BITLTEHLOTME S 6T JCHEmID G (h SeneuuCeor
316V6VG| @)(Th SEMEUBETTlEY|LD 2 EMTWTMHMEVTLD?

(&)  9Dfley 100 B) ey 86
(C)  Nifley 92 D) Difley 102

Sieugrhlencvullss CUTE GeOMSsSLILLL JigliLienL 2 flensener HHl&H5HIenM M| WLIe| Clauwiu|b
H&MTEHmG LN6tToU(HLD ST WevenLliLg &) (HSShis6r 60 6rg) LG (HSHS8?

(A)  44%8 HHHHWD (B) 4208 SlmH B0

(C) 52%8 HmHHD (D) 8628 fmHH0

9ifley 106 @esr &, BILMEHWeTD 2 MiLgeriserflest FLeTSHeng HlFeoTuNs@GHWw 4SS
wimflLLb 2 6iTemrg)?

B gemdHug B  Grson

(C) elLlulg BTLTEHLO6TMLD D) HH sy emevoTLD

10598 gyrFlwsvemdliLg H)(HEHSHLD @QSHEBIL 65T CISTLILEMLWIG) :
A)  salbHmey Frhismigs6T
(B) wesmdudHufst ofHamymissr
(C) OBC semer oyemLwWITeTLD &mewst LTHlevkig6T 6T HHBTTEHMS BLGIL (HSSH60
D) 9Orfley 370 & 755 ClFUISHEL
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61. As per the provisions of the Information Technology Act, 2000, sensitive personal data or
information shall be prescribed by the Central Government in consultation with which of
the following :

(A) Professional bodies or associations as it may deem fit
(B) Parliamentary Committee constituted as per the Act
(C) National Human Rights Commission and other NGO’s

(D) A Committee constituted by Supreme Court of India

62. Match List I with List IT as per the provisions of Information Technology Act, 2000 :

List I List IT
I. Section 66C a. Cyber Terrorism
II.  Section 66D b.  Cheating by Personation
III. Section 66E c. Violation of Privacy
IV. Section 66F d. Identify Theft
(A) I-d; II-b; III-c; IV-a (B) I-a; II-b; III-c; IV-d
(C) 1I-d;II-a; III-b; IV-c (D) 1I-d; II-c; III-b; IV-a

63. As per the provisions of Information Technology Act, 2000, the punishment for identity
theft is :

(A) Imprisonment upto 2 years and fine upto one lakh rupees
(B) Imprisonment upto 3 years and fine upto one lakh rupees
(C) Imprisonment upto 2 years and fine upto two lakhs rupees

(D) Imprisonment upto 3 years and fine upto two lakhs rupees

64. What is the name of the Indian government’s official digital currency?
(A) Bharat Coin (B) Crypto Rupee
(C) Dagital Rupee (D) e-Cash India

65. Which Schedule of the Information Technology Act, 2000 specifies the electronic

techniques for electronic signatures?
(A) First Schedule (B) Second Schedule
(C) Third Schedule (D) Fourth Schedule
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61.

62.

63.

64.

65.

s56U6v GamflevmLug i, 2000 @er aNSlaeaflerrLly, pe&EwDTeT SHesflliLLL HT6| H6V608]
SHEUVHEDEIT LSS T8 LN6dTEU(THELESTEUMD M6 6THER)IL 6T HeVHSTEVTH S LIf b 608 @)W ?

A)  Qamhlevpenm SEDWLLILIGET 606V FhiGHIGET QUIM(HSSLOMSHE &(HSHEVTLD

(B) slLsHetmLIg SemwEHasILLL HTLT(EHLOETDE (& (LD

(C) Cadlw wesllg 2 NenEHET U En6uTWID LMMID LNM & FTFT [HM)6L6BTEIS6T

D) @BHw 2 &5 BHLETHSHSTEL HeMLOSHSLILILL 62(F (& (D

sH6Usy Gamflemilug i, 2000 @er eNfsefleruy uligwsy I oo wuligwesy II o Lebr
CUMmHESH6LD :

ulgwev I ulgwiev IT

I Nifley 66C a. EOEFLIT LIWMBISTEUTSLD

II.  9fley 66D b.  SUETLTMOTLLLD ELP6VLD FLOMMHMISHED

III.  9fley 66E c. seflyiflenw WBmev

IV.  9fley 66F d.  SHLEML EMLWTETLD HITE)|SH60
(A) I-d; II-b; III-c; IV-a B) I-a; II-b; III-c; IV-d
(C) 1I-d;II-a; III-b; IV-c (D) I-d; II-c; III-b; IV-a

&&6160 Clgmflevm g L, 2000 @6t eNSlaeflstrilg, SGIL6tTL g C1&00L9(h S6ToTL6m6DT :
(A) 2 oy eBT(H 6T suemT FletM GG ETITLED6TT LOMHMLD 6R(TF 6VLELD HLITUI 6UEMIT SILITTSHLD
(B) 3 quemr(hls6r sueniy Flenm & & 6euTLem6sT MHMILD 62(TF GVLELD PHLIMLI 6UEMIT HLIFTSHLD
(C) 2 oy eBT(H 6T uemy FlevM G HETITLEDETT LOMHMILD @)T6soT(H) 6ULELD HLITI 6UEMIT SILITTSHLD

(D) 3 o eBT(HBH6T uemT FleM G H6ETITLEM6WT LOMHMILD @)T6aT(H) CVLEFLD eHLITU 6UEHIT HLITTSHLD

QHHW STEFTRISSHS 6T HHSTTLILLTEU 192 L6V HTesoTWSH 6T QLW 6T6dT60T?
A)  umys smulesr B) HAALCLT emS
©)  eAiLe e D) @-Casig @b

&56U6v Glamflevm g &L, 2000 @6 6ThHE L LeUen6soT LS6tT6TEsn)| 66185 6] WITLILIMIS (6THE: &IT6sT
LO\6sTEsTER)| [hIL LITEISE06TS (HMIULN(HEME?
A)  Yws6L 3L LeusmessT (B) @ueverLmeug ol L6uenewt

(C)  epeToTeUg| Sl LeuemesT (D) mreTameLg L L6Uen U
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66.

67.

68.

69.

70.

71.

How many digits are there in an IMSI number used to identify a mobile subscriber?
(A) 10 digits B) 12 digits

(C) 15 digits (D) 18 digits

In the context of internet and mobile technology, what does the acronym GPS stand for?
(A) Global Positioning System (B) General Packet Switching

(C) Global Protocol Service (D) Geo-Pointing Satellite

Among the following which is a variant of ‘Denial-of-Service Attacks™
(A) DDoS (B) DdSA
(C) DDaS (D) DDsA

Among the following Sections of the Information Technology Act, 2000 which Section

deals with Tampering with Computer Source Code :
(A) Section 63 (B) Section 64

(C) Section 66 (D) Section 65

Among the following cases, in which case the Hon’ble Karnataka High Court observed
‘ATM is not a computer by itself and it is connected to a computer that performs the

tasks requested by the person using ATM’s’ :
(A) Diebold Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes
(B) Dyelord Systems Pvt. Litd. v. The Commissioner of Commercial Taxes
(C) Grworoot Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes

(D) Byeroot Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes

Which Neo-Freudian emphasized social factors and minimized Freud’s focus on sexual

drives?
(A) Erik Erikson (B) Carl Jung
(C) Alfred Adler (D) Karen Horney
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66.

67.

68.

69.

70.

71.

R(H CTEOLI FHBHTHTTENT SenLwmerd smesoril LwetUhSsLubID IMSI eresorenstlsv erggement
©6LESHBIGET 2_6T6mensT?

A) 10 @evssmissr B) 12 @evsarussT

(C) 15 @evsarigsT (D) 18 @evasnrssT

@enewrwid MHMID Glrenusy CFmflevmIL LSS 6T @Ledey, GPS erettm & (HE0HWEHS Tanss
GO&Ens?

A)  BCsrrusy QuTaflauesiik fevLib

(B) Qxevrysb GUEGISL el &

(C) BCsmrmusy 4CFTLCLT&H T FFefen

(D)  Cwm umuNesoTL L9 MBI FTLEMmEVL

Nesreu(meustTeumnilev ‘Denial-of-Service Attacks’ stesruigett ommuim() erg?
(A)  DDoS (B) DdSA
(C) DDaS (D) DDsA

s56uev Glampleomilug s, 2000 @er Netteu@mbd Nifleyserfley, semflesfl epsuss (GHmIuTLenL
Cezluhsgieug CamLyumer Nifley :

A) 9l 63 (B) 9fley 64

(C) Y9Yfley 66 D) ey 65

LN6BTEU(HLD 6ULPE & a61Tl6, LOMEBITLLO (& SIBTLS 2 W BT ‘6rigeTid HTesTmaGou e(h Hevoflesf]
3i6V6v, GEID Gl glyeTbsenerl LweTU(hSSID BUF GCom@pb ueslleaemerg  Cl&Fwiw|D
sewuflesfl L6t @ enewTa eIl (h6Temg sTeTm] (GMLINLLE) :

A)  emLGumevL HevLberv LNenrGeul eNBCILL. V. suessila suifl oy emesoTwty

(B) emLeumL flsivLiben NemyGeul eOIANGILL. v. suessfla euifl oy emessTy

(C) sememLl HevLibsiv NemFGoul 6NAGILL. V. euessies suifl o emeusrwy

(D) ewuerL AevLiben KNenFGeul eNSGILL. V. 6ustsila euifl g emevry

Feps sryenileaensT euedlmiss), KNrmiligesr UTeSlwsy HIesoT(HHEV&H6T LBHTET  &H6U6TTSHMS
GMEHS HCWIM-colNFmiiLgwiest wmy?

(A) s erflsgeoT B) sy g

(C)  6LBLNTL BiL6evr (D) &Cresr ammyesh
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72. Gestalt psychologists studied the phi phenomenon to illustrate that :
(A) Movement perception is learned through reinforcement
(B) Visual illusions are due to top-down processing
(C) We perceive motion even when no movement occurs

(D) Perception relies solely on retinal image changes

73. Task-switching costs occur when performance declines due to :
(A) Divided attention across simultaneous tasks
(B) Shifting attention between tasks
(C) Sustained attention over time

(D) Emotional distraction

74. The levels of processing theory argues that memory retention depends on :
(A) The speed of learning
(B) The depth at which information is processed
(C) The frequency of rehearsal

(D) The length of the retention interval

75. What is the Flynn effect?
(A) The observed rise in average 1Q scores over time
(B) A type of emotional intelligence
(C) A theory of multiple intelligences
(D) The decline of intelligence with age

76. During a social event, a person unconsciously mirrors the smiles and laughter of others,

leading to shared positive emotions. This is an example of :
(A) Emotional contagion (B) Cognitive appraisal

(C) Affect labeling (D) Opponent-process theory
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72. GleVLT6LL 2 6meilWIGVTETT&6T 6mLI Hl&Lpeneu il ClFuig) a96rs @ug) :
D) Quss 2 ewTIH6 UIaLLLEY eV BHNHMISCISTETETLILI(HEME)
(B) srid wrenwssT Ced([hHg) S C\FW6eVTE:SSHSH 60T &ITFesTLO (G0
(C) eBs Quaswbd HlesTsGUTEID BTD @UsEsSHmS 2 6uTTH EMmTLD
D) yeveniswriey eNPlGHeniy LIL oMHMEISGEnNST LL(HEL BHLNU|6Terg)

73. GEwsvdmert Gsmmub Cumg| Liessfl-mmig&60 Cla6v6, &6 @)&6tTITeV 6 MLI(H & 6TM6DT. SITFEToTLD :
A) «CrCrrsHev uswlaeafsy NAeasULLL SeusTid
B) uellaEmsE QenLuNsh HeaTsHeng LMMHMISH6L
(C) smeuliICUTEEI6L FlENEVLITENT S6L6BTLD

(D) o ewrjad) seustTEAHME

74. BlemesTouTMMEL HEHESEEMEULIL] @eumenmE FTFHGI6TeNg| ereTm GlEweursss Camiumiigesr
Hl6em6V&6TT euTE) (H&edTm6DT :

A)  smHmeder Geusid

(B) s&6u6 QFwWeITsaLILIHID QYLpLD
(C) esHensuls o6 [ 6uessT

D) sssmeuliy @enLGsueflufesr Herd

75.  SLNeflest efememey eretTenT?
A)  sreoliCursdlev ermafl 1Q wH LG LTSN STewTiLLL 2 Wijey
(B) @ susmaswmest 2 ewuTyES) HietoTewOT 6
(C)  uev misvETERITN 6Yy&HE 6T Camiuim(h)
D)  euwzisE gHu BieTarTlailer Gsnmey

76. @m &eps Hlaweler Cumgl, @@ BUF SJMVWTLCLCW MMEUTEHSITlET  Li6iTeoTen s 6emWIWL|LD
Afluemuwjb KWrHlueSliiumy, @& uslFuulL Criwenm 2 ewTfEflsEneE auleuGHsSIngl. @&

20 THEHISSTLE :
A)  eewrjgd QgmHm) B) omMeurmmev wHLISH
(C)  GevNefli umliemu FHUHS SIS0 D) edHrmef-GFwesvpsnm Camium(
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71.

A person experiences intense fear and avoidance of flying, which disrupts their job
requiring travel. Their therapist uses systematic desensitization to help them. How does

this treatment work?
(A) By encouraging the person to avoid flying completely

(B) By gradually exposing the person to flying-related stimuli while teaching

relaxation techniques
(C) By prescribing medication to suppress anxiety symptoms only

(D) By using hypnosis to erase the fear memory

78. A teacher assumes students from a certain background will perform poorly and

79.

80.

consequently gives them less attention, which leads to poorer performance this an

example of
(A) Self-fulfilling prophecy (B) Stereotype threat

(C) Confirmation bias (D) Social loafing

During middle adulthood, a person who focuses only on personal success without

Contributing to others is likely to experience :
(A) Stagnation (B) Industry

(C) Initiative D) Guilt

In the postconventional level, moral reasoning is motivated by :
(A) Avoiding punishment
(B) Obeying authority
(C) Seeking approval

(D) Core values and universal principles
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71.

78.

79.

80.

@ BUT ShHlenWmeT LWSHensWwd, e9NwmeTl LWeaTsHamss SaNTLLensWLD HenlLeNSSImy,
@& oeurssflear LwWetTHMSS GCHemeulil(Bld  Geuenevenws ShHSSHMG.  Heurssrfles
FEFMFWITETT HOUTSHEHEE 256U (PMDWITET 2 esoTFHIMerT HHSHnSHL L6 (H &SI M.
@bs HEFamne ereueurm| CFweoLHE g7

A)  upliuens WPHMILTES H6NTE&HES HLIEMT 261 &6 LILIG6IT CLPEVLD

(B) semiey mILuRBIseNeTS SOHN&EGL CUTgl, UMLLG CBTLTUTET FHTesT(HH6085EhHs(E,
BLeOT LgLiLiguims GleuerlLiL(h &g 6ug6sT pLpevLd

(C) uslL MGNS&6T LL(HID SLES L(HHGISHENST LIFHEIemTLILIGET eP6VLD

D)  vw HemeTeneu &S alissTmerdlenenL LIWesTL (h& 165 63T ep6vLd

@M BAAWF  m GOUNLL  Nerertemfllenws CFimhs  WmestToUssT  CLMTEFLTSE
ClFwevLi(hleumgaEsT  eT6dTm| H(HS!, HSHET NeNETEUTS  HUTHEHSHE (5ENMEUTEST  SH6L6ITLD
ClEIBEISDMT, @& CLTELTeT CFWeSH Men)|& &) eUleUGHSSEIME, @&ME S STFesTLD :

A)  sw-hHepGeupm ST&ssHFeard B) evefNCuTenLL SF8MI&HSH60

©O) 2mHuuhsss FTiLy D) eFeps upOTEEGD

BHSST UGBS STV&HSI60, LMHMEUTEEHEE Lmkig6ssTney HesfliulL tleummluNsy i (HiGw
&H6UGITLD CIFVISHGHILD R(HEUT HEWILIONSS 6UTILIL6TETS) :

A) Czssbd B) sy

O werpuns D)  EHD 2 ewTiey

wry&sEL Nbegw Blemeuisy, sTils LGSsDley Geunmre e iubEns :
A)  seTLemeTEnWS HENTLILIG
B)  oflamrsHbEe Spiunse
©)  @uysmes CobH60

D) wsHw WHLYSST HMID 2 vsHeTTelw Cl&T6Ten & 6T
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81. Find the name of the part of speech given in bold in the given sentence from the

following options :
I will never follow you.
(A) Adjective (B) Adverb

(C) Conjunction (D) Interjection

82. Correct the given sentence by choosing the suitable verb form from the following options :

The girls and boys of class V who have registered for the study tour have requesting

for leave since yesterday.
(A) Are requesting (B) Have requested

(C) Have been requesting (D) Had requested

83. Identify compound complex sentence from the following :
(A) Isaw her when I was returning from the college.
(B) Being a timid boy, he preferred to be silent about the matter.
(C) I have a spare notebook yet I do not want to give it to her.

(D) My friend who was in Dubai came yesterday and gave me some gifts.

84. Choose the correct sentence from the following :
(A) If you had come I would have joined
(B) IfIwere a bird I will fly
(C) If you study you will be passed

(D) If you will work I will have paid you well

85. Fill in the blanks by using the correct preposition from the options :

He fought his life the whole day.
(A) with (B) by
(C) for D) in
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86.

87.

88.

89.

90.

Use the appropriate collective noun from the options to complete the given sentence :

She found of arrows inside the cabin.
(A)  Pack (B) Fleet
(C) Litter (D) Quiver

How many words given below are compound words?

Ice cream, sailboat, rain fall, backyard, football, butterfly

(A) None B) Al

(C) Two (D) One
The strike was . Find the appropriate phrasal verb from the following to fill
in the blanks :

(A) Broken down (B) Gone through

(C) Looked up (D) Called off

She had to bite the bullet during her training period.
Here the idiom in bold means :

(A) Unpleasant situation

(B) Courageous attitude

(C) Threatening moments

(D) Exciting moments

Find out the correctly spelt word from the following :
(A) Acquiantence (B) Aquaintence

(C) Acquaintance (D) Aqueintance
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91. gmenwL UeTEnLI LNEDLP&ET @eV6VTEHE CIFTDHEIMTLENTE SH6voTLMIS :

(A)
(B)
©
D)

LI6V S6sflLILITL6VS6IT Lj6veuF&6mmed LmLLUGILMME)
LI6V &6vflLILITL6V&EIT L|6VeUT&ETTEV LIMLLIGILIMHM6sT
LI6V &6vflLILIML6V&6IT Ljeveu ey LIMLLIGILIHmest

LI6V &6vfl LIML6V&ET Ljsueuymey LmLLIGlLmmeneu

92. wryu NenwssT MM CIBTLENTE SetoTLMS :

(A)

(©)

Gamf) sae|b B) Camy ss550

Gamf) Q&8 sf8@ELW0 D) Cary GeiEw

93. QUWFEGIFTELEO6IT bUEME NS — &GS BISHET :

(A)

©)

SmeolIGlLwIy B) QsTYHELW]

LessT U1 Quwry (D) LUQuuwy
¥

94. OQerHeHmeT WMIGUHSSH ClETHODTLITEES :

(A)
(B)
(©
D)

SIPG LI CFWEDG) BlevSSIDE
L7 HlevsHMHEG CIFWLS D NG
L7 HlevsHMHE WG ClFLS D

S1PG HevsHM G ClF WS mE) LD
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